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Dora thinks that 88 sweets can be

shared equally between eight people.

Is she correct?

Compare the statements using <, > or =

6b. Use <, > or = to compare these

6a. Use <, > or = to compare these .
calculations.

calculations.

76 + 4 54+3 64 + 4 45 + 3

48 + 3 68+ 4 51+3 52+ 4




Dora is correct

Dora thinks that 88 sweets can be because 88

shared equally between eight people. divided by 8 is
equalto 1

Is she correct?

(olofe(o]oe/c)o)

00000000 -

Compare the statements using <, > or =

6b. Use <, > or = to compare these

6a. Use <, > or = to compare these )
calculations.

calculations.

76+4 | > | 54+3 64+4 | > 45+ 3

48 +3 | < 68+ 4 51+3 | > 52+4




